

KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE)

BID EVALUATION REPORT

Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
Tender Reference No:	SPPRA Serial No.31689 I.D No
Tender Description/Name of Work/Item:	MANUFACTURING AND FIXING OF RAW WATER SHUTTER GATE WITH COMPLETE ACCESSORIES AT 45 MGD FILTER PLANT PHASE II, KW&SB
Method of Procurement:	Single Stage (One Envelop)
Tender Published:	Through Web Site
Total Bid Documents Sold:	<u>2 Nos</u>
Total Bid Received:	2 Nos
Technical Bid Opening Date (if applicable):	N/A
No. of Bid Technically Qualified (if applicable)	N/A
Bid (s) Rejected:	Nil
Financial Bid Opening Date:	09-03-2017
	Tender Reference No: Tender Description/Name of Work/Item: Method of Procurement: Tender Published: Total Bid Documents Sold: Total Bid Received: Technical Bid Opening Date (if applicable): No. of Bid Technically Qualified (if applicable) Bid (s) Rejected:

12 BID EVALUATION REPORT

S #	Name of Firm / Bidder	COST OFFERED BY THE BIDDERS	RANKING IN TERMS OF COST	COMPARISO N WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1	M/s. Yasin Enterprises	Rs.9,99,995/-	1 st Lowest	@7.149% Above	P.O and required documents are available. P.O# 50615676 dt:08-03-2017 Rs.20,000/-from Summit Bank Gulshan- e-Iqbal (2) Branch Karachi.	
2	M/s.Serena Enterprises	Rs.10,03,038/-	2 nd Lowest	@7.475% Above	P.O and required documents are available. P.O#02567969 dt:16-01-2017 Rs.10,000/-& P.O#02567873 Rs.5,000/-& P.O#02567874 dt:21-12-2016 Rs.5,100/-total Rs.20,100/-from Bank Al Habib Ltd. Gulshan Block-2 Branch Karachi.	Substantially

The all concerned bidders are being informed accordingly.

The E.E Concerned for compliance of Rule-45 of SPPR 2010 M/s. Yasin Enterprises declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Jawaid Ali Kamboh) D.A.O (C.O.D)

Member / Secretary

(Saif-ul-Haque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Zahid Jamil Qureshi) S.E (C.O.D)

Member

(Saleem Ahmed)

Director (Design & Estimate)

Convener

NIT No.SPPRA Serial No.31689

Method and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work: MANUFACTURING AND FIXING OF RAW WATER

SHUTTER GATE WITH COMPLETE ACCESSORIES AT 45

MGD FILTER PLANT PHASE II, KW&SB

Date of Opening:

09-03-2017

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

		Bidders' Name				
S. No.	Eligibility / Qualification Criteria	M/s.Yasin Enterprises	M/s.Serena Enterprises			
1.	Registration with PEC (if applicable)	N/A	N/A			
2.	NTN	Yes	Yes			
3.	Sales Tax Registration (FBR)	N/A	N/A			
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes			
	Qualification Criteria:					
5.	Minimum three year experience of relevant field.	Yes	Yes			
6.	Turnover of at least last three years	Yes	Yes			
7.	Required Bid Security is attached.	Yes	Yes			
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes			
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A			
10.	Qualified/ disqualified	Qualified	Qualified			

(Javaid Ali Kamboh) D.A.O (C.O.D) Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Zahid Jamil Qureshi) S.E (C.O.D) Member

(Saleem Ahmed)
Director (Design & Estimate)
Convener

Method of Procurement: Single Stage Single Envelope.

Name of Work: MANUFACTURING AND FIXING OF RAW WATER SHUTTER GATE WITH COMPLETE ACCESSORIES AT 45 MGD FILTER PLANT PHASE II, KW&SB

MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 09-03-2017 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders.

(Attendance sheet is enclosed).

- Two bidders submitted their bids till the deadline of submission.
 - M/s. Yasin Enterprises i.
 - M/s. Serena Enterprises
- The bids were opened at 2:30 P.M in the presence of the above mentioned participants 3. and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date
1.	M/s. Yasin Enterprises	Rs.9,99,995/-	Rs.20,000/-	P.O# 50615676 dt:08-03-2017 from Summit Bank Gulshan-e-Iqbal (2) Branch Karachi.
2.	M/s.Serena Enterprises	Rs.10,03,038/-	Rs.20,100/-	P.O#02567969 dt:16-01-2017 Rs.10,000/-& P.O#02567873 Rs.5,000/- & P.O#02567874 dt:21-12-2016 Rs.5,100/-from Bank Al Habib Ltd. Gulshan Block-2 Branch Karachi.

- The bids do not contain any cutting or overwriting. 4.
- 5. The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the chair. 6.

(Jawaid Ali Kamboh)

Q.A.D (C.O.D) Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Magsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Zahid Jamil Qureshi)

S.E (C.O.D)

Member

(Saleem Ahmed)

Director (Design & Estimate)

Convener

COMPARATIVE STATEMENT

Name of Work: MANUFACTURING AND FIXING OF RAW WATER SHUTTER GATE WITH COMPLETE ACCESSORIES AT 45 MGD FILTER PLANT PHASE II, KW&SB

Item No	Description of Work			Estimated	Cost		M/s. Yasin Enterprises		M/s.Serena Enterprises	
140		Quan	itity	Rate	Per	Amount	Rate	Amount	Rate	Amount
1	Manufacturing Cast Iron shutter gate incoming raw water filter beds size (2' L x 12" W x 20mm) thickness as per sample machining polishing & buffing complete job.	32.00	Nos	6196.00	Each	198,272.00	6700.00	214,400.00	6710.00	214,720.00
2	Manufacturing Cast Iron shutter gate frame incoming raw water filter beds frame size (2.1" L x 11 1/2" W x 5w x 15mm) thickness as per sample cutting welding machining & polishing complete job.		Nos	6159.00	Each	197,088.00	6600.00	211,200.00	6608.00	211,456.00
3	Manufacturing Cast Iron triangle site plte rfixing of raw water shutter gate size (10" L x 19 1/2" H x 20mm) thickness as per sample machining polishing & welding complete job.	64.00	Nos	2943.00	Each	188,352.00	3500.00	224,000.00	3510.00	224,640.00
4	Providing aluminium sheet size (2" L x 10 W x 2mm) thickness fixing of raw water shutter gate complete job.	32.00	Nos	58.31	Each	1,865.92	60.00	1,920.00	64.00	2,048.00
5	Manufacturing cast iron gate lock size (5" L x 1" W x 13mm) thickness as per sample fixing of raw water shutter gate machining polishing & buffing complete job.		Nos	1176.00	Each	75,264.00	1200.00	76,800.00	1208.00	77,312.00
6	Manufacturing cast iron clamp fixing of shutter gate size (5" L x 2" W x 21mm) thickness as per sample cutting polishing machining & complete job.	64.00	Nos	1381.00	Each	88,384.00	1400.00	89,600.00	1410.00	90,240.00
7	Providing S.S. shaft fixing of raw water shutter gate size (90mm L x 12mm) thickness as per sample.	64.00	Nos	551.00	Each	35,264.00	555.00	35,520.00	558.00	35,712.00
8	Providing S.S. Nut & Bolts size (7" L x 5mm) thickness as per sample.	8.00	Kg	725.00	P/Kg	5,800.00	720.00	5,760.00	725.00	5,800.00
9	Providing S.S. Bolts size (1 1/2" L x 3mm) thickness as per sample.	3.00	Kg	300.00	P/Kg	900.00	300.00	900.00	310.00	930.00

July 1

Gut

16/2

7

Dal.

Name of Work: MANUFACTURING AND FIXING OF RAW WATER SHUTTER GATE WITH COMPLETE ACCESSORIES AT 45 MGD FILTER PLANT PHASE II, KW&SB

Item No	Description of Work			Estimated	Cost		M/s.Yasin Enterprises		M/s.Serena Enterprises	
140		Quar	itity	Rate	Per	Amount	Rate	Amount	Rate	Amount
	Providing thermopile sheet fixing of raw water shutter gate size (2x 1" L x 10" Wx 100mm) thickness as per sample)	25.00	Nos	110.00	Each	2,750.00	115.00	2,875.00	118.00	2,950.00
11	Providing rubber seal of shutter gate ring size (2' L x 2" w x 5mm) thickness as per sample complete job.	32.00	Nos	1450.00	Each	46,400.00	1455.00	46,560.00	1460.00	46,720.00
12	Dismantling old raw water shutter gate labour cahrges.	1.00	No	19000.00	Each	19,000.00	19100.00	19,100.00	19100.00	19,100.00
	Re-fixing of new raw water shutter gate labour charges & transportation charges complete job.	1.00	Job	28450.00	P/Job	28,450.00	24110.00	24,110.00	24115.00	24,115.00
14	Manufacturing wood pattern raw water shutter gate size (2' L x 12" w x 20mm) thickness i/c dyer wood.	3.00	Nos	4747.00	Each	14,241.00	4750.00	14,250.00	4755.00	14,265.00
	Manufacturing wood pattern raw water shutter gate channel size 2'.1" L x 11. 1/2" H x 5" w x 15mm) thicknes i/c dyer wood.		Nos	10415.00	Each	31,245.00	11000.00	33,000.00	11010.00	33,030.00
	TOTAL QUOTED / CORRECTED COST					933,276		999,995		1,003,038

(Jawaid Ali Kamboh) D.A.O (C.O.D) Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member (Zahid Jamil Qureshi) S.E (C.O.D)

Member

(Saleem Ahmed)

Director (Design & Estimate)

Convener

ATTENDANCE REPORT

Name of Work	Manygachuring and Fixing ob Rew Woln
	Shutter Gale with complete Accessives
7	ct 45 McD fi Hoz Plant. Phose 11.
Date of Opening	09-03-2017

The following competitor have participated in the competition of the subjected work:-

S.No	Name of Contractor	Signature
61	Mls Yasin Enta Prises	La dis
62	MIS Serciena Entarrisa	DAI
		£